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Unit 3: Product Rule and Quotient Rule

The Product Rule: If both f and g are differentiable, then

(f-9)(¥)=1(x)-g'(x)+T'(x)-9(x)

d d d
LT 009001 = F0)- - 900+ 99— F(X)

= F-S'+F"S

Examples:
1. f(x)=(x*+D(2x* -1)

Power Rule Product Rule

f'(x) = f'(x) =

2. h(x) = (3x* +5x* —3)(6x° —7)

h'(x) =



Name:

The Quotient Rule: If both f and g are differentiable, then

Yy 90 - (-0’ ()
(gj ¥ [9(x)T* 9(x) #0
d d
d (f(x)j: 9(x)- , FOO=F0)-9(x)
dx{ 9(x) [9()T°
_ B T-T-B OR _ low-d(high) —high - d (low)
B’ low - low
Examples:
4, f(X)=i)2(j
f'(x) =
J— eX
5. Y= X3 +1
y':
6. h(x)= 4 _X?HS

h'(x) =



Name:

7. Given F(x)find F'(3) if 7(3)=7, F/(3)=2, 9(3)=6, and g'(3)=-10.
F(x)=f(x) g(x)

8. Given F(x)find F'(5) if g(5)=2, and g4'(5)=-3.
F(x)=(3x%-4x) g(x)

9. Suppose f(6)=2, f'(6)=3, g(6)=4, and g'(6)=6.

Find:

a) (fg)'(6) b) (f +9)(6)

) (- )6) d) (ij (6)
-0

10. If h(x) = gix) , where g(0) =2 and If g'(0) =5,, find If h'(0) =
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